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g, SUBTRACTION of 5 & 6-DIGIT NUMBER
1) 42345 2) 98765 3) 294786 4)356789

- 6789 57981 65432 76543
9) 51561 6) 984327 T)8o7410 8)453533
-49820 187682 - 95135 256710
9) 45601 10) 987890 11)606805 12) 87650
2016 609807 - 118543 - 37801

WORD PROBLEM

Q1- A construction company had 98,765 bricks in their inventory. They used 45,678
bricks for a project. How many bricks are left in the inventory after completing the
project?

Q2- A company had 135,678 units of a product in stock. They shipped out 56,789 units
to various customers. How many units of the product are still in stock?

Q3-A library had 567,890 books in its collection. Over the month, 123,456 books were
borrowed by readers. How many books are still available in the library's collection?

Q4- A warehouse had 345,678 boxes of electronics. 123,456 boxes were shipped to
retailers. How many boxes of electronics remained in the warehouse?

Q5-What must be added to 89,430 to make 1 Lakh?
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5)51561
49820

17 41
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- 2016

43585

ANSWERS
2) 98765 3) 294786 4)356789
57981 - 65432 - 76543
40784 229354 280246

6) 984327 T7)807410 8)453533
187682 - 95135 256710

796645 112275 196823

10) 987890 11)606805 12) 87650
609807 - 118543 - 37801

378083 4 88262 498 49

WORD PROBLEM

A1- There are 53,087

A2- There are 78,889

bricks left in the inventory after completing the project

units of the product still in stock.

A3- There are 444,434 books still available in the library's collection.

Ad- 222,222 boxes remained in the warehouse.

A5- 10,570 added to 89,430 to make 1 Lakh?
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